Paper: B.E_B.Tech
Set Name: |ltem33
Exam Date: | 28 July 2022
Exam Shift: | 1
Langauge: | Hindi
Topic: Mathematics-Section A
Iltem No: 1
Question | 190601
Question
Type: MCQ

T STaFe TR xdy=(,/x2+y2 +y)d_x,x> 01 &1 a3, Wlx =1 Hly=0 W a1 @l
Question:

x=2 Hy=a WFECA LI Mo FAFE :

A: l

2
B: E

2
C: — E

2

D: E

2
Topic: Mathematics-Section A
Iltem No: 2
Qgestion 100602
ID:
Question
Type: MCQ

. < x2—4x+2 .
Question: | gfqeird FrepIvHT e & hael T HH ofd gU, Terd f(x)=cos .. FUAE:
X+

A:

(-1




B: |:_l’ m)
4
o %
D: [—.m;.]r l:i
3
Topic: Mathematics-Section A
Item No: 3
Question
D- 100603
Question
Type: MCQ
—3 N AN = Py A AN e 2 A MM
HHE Gfe9 a =1+t i+(1-t)j+k, b=(1-t)i+(1+t)j+2k TIT c=ti—tj+k,te RS IFR
i - — — - =

Question: TfFa B,vyeR FfAT ca+Bb+yc=0=a=p=y=0.

dl t & | HEI T =
A % ifiaa aRfa o=
B: N & oIR8
c: R— {0} & oK &
D: R % oK §
Topic: Mathematics-Section A
Item No: 4
Question
D- 100604
Question
Type: MCQ
Question: gfaed Fenifadi werd o & JF oid gL THIR cos L (x) — 2sin~ L(x) = cos ~ 1(2x) o |

Tl FT AR ¢
A: §]
B: 1




C: l

2
D: _l
Topic: Mathematics-Section A
Iltem No: 5
Question
D- 100605
Question
Type: MCQ

AT %, @ € {a, v} 21 3Q (prq)o(p © ~q) TH qFefea 2, @ &fma g™
Question:

(x,®) ¥ :
A: (V, A)
B: (V, V)
C: (A, A)
D: (A, v)
Topic: Mathematics-Section A
Iltem No: 6
Question
D- 100606
Question
Type: MCQ

T U Giew 5 I URE0IO ¥ | W Uk GW b 59 YR ¥ R 9eI (v, ) € RXR—{(0, 0))
Question: Ly uy

— — — — .

%Ff?ﬂ,Hﬁﬂ(xa+yb),ﬂﬁ(ﬂ(6ya_1ggxb)a€ﬁaﬁlﬁél dl [a X b| &1 g e &
A 93
B: 273
C: g
D: 81




Topic:

Mathematics-Section A

Iltem No: 7
Question
D: 100607
Question
T;pe: | MCQ
t € (0, 2m) % ferg, Afe 3El A(sint, — cost), B(cost, sint) T&T C(a, b) % Tk HHaTE A4Sl ABC
Question:
1 sl e, Th o [ % (1, %) %, WA g @ a2-b?) TR T :
A: §
%)
B: 8
C: ?_7:
9
D: @_
9
Topic: Mathematics-Section A
Item No: 8
Question
D: 100608
Question
Type: MCQ
| aeNH fAU, N WRTE FF9R, R = {(x, y) : 3x+ay, 7 1 TH U ¢ ) 511 fe=m 721 81 §aiw R
Question: .
e qoddl Hay § Afe 3R hae 4fs
A: a=14%
B: o, 4 1 TH OIS ©
C: a1 10 F faunforg s W dowa 43
D: a1 7 T fafera w3 | 99w 4 ®
Topic: Mathematics-Section A
Item No: 9
Question 100609

ID:




Question

Type: MCQ
60% AfEe q21 40% T&9 =il g < 78 weh wdian H 60% Ao whe 29 ¥ | wlan § 9w
Question: | B aTell Afgenaii o1 WA, Tlan § Tl B ol IEul Rl WA i &1 A1 § | 9hd sl § 9
ek At g I S § | 97 T e % afeen €1 i Wi §
A: E
4
B: E_
16
C: g
32
D: E
16
Topic: Mathematics-Section A
Item No: 10
Question 490610
Questi
T;Jpees: 1on MCQ
7fg ATHe HIHI
Question: (sirl2 2x)%+(85i112 2;1:+25i114x)y=28_4x(2sin2x+cos2x), xe (0, m2), y(mf4)=e"
HEA TH Yy =y(x) 5 A y(w/6) TTRT
2 _om3
A: —p
3
2 oq3
B: —_—
NG
c. 1 o3

V3




1 23

D: —p
J3
Topic: Mathematics-Section A
ltem No: 11
Questi
ID‘feS ‘" 1100611
Questi
T;Jpees: on MCQ
| afe wEeE y2=2v -3 % fagsil P Q W Hi wE wel Y faig R(0, 1), W faerdt ¥, @ By
Question: .
POR & &9 < &
A: 0, 1)
B: (2, — 1)
C: (6, 3)
D: (2, 1)
Topic: Mathematics-Section A
Iltem No: 12
Questi
ID‘feS 'oN 1100612
Questi
T}llJpeeS: on MCQ
AT A 22 +12—x+2y = % F F= C 7 a1 ga W U fag P71 s @, foig C 9 St o
Question: Tr T
g, @cry o 1 IV TR & T g i fageii Q a9 R R Fedt ¥ | 91 st PQR &1 & %et
(FgFEH) T
A: 2
B: 2.\]5
C: - (E}
8
D:




Topic:

Mathematics-Section A

Iltem No:

13

Question ID:

100613

Question Type: | MCQ

Question: | 72022 4 32022 7y 5 F fgIfeTd T T ATHA @ :
A 0
B: 2
C: 3
D: 4
Topic: Mathematics-Section A
Item No: 14
Question
D- 100614
Question
Type: MCQ
0 1 0
Al SIS A=|0 0 1| a9 38 By= A% +2A% 1 Afg g¥fin>1 % faw B =Adj(B, _,)
Question:
1 0 0
2, @ det(B,) TR ¥ :
A: 323
B: 33'3
C: 332
D: 33'5
Topic: Mathematics-Section A
Item No: 15
Question
D- 100615
Question MCQ

Type:




1 ;

Question: qr S = {21 eC: |z — 3 =E] TSy = {2 € C: |23 — |za+ U = |20 + |22~ I} B 1 1 2

€S, Tz, €S, & TG, |2p— | 1 FeFam AR & :
A: 0
B: l

2
C: E

2
D: E

2
Topic: Mathematics-Section A
Item No: 16
Question 100616
Questi
T;.Ipees: on MCQ
Queston: | 0 A2 +1Y2=1,z= 07 T foig | HAE 2x + 3y +2z = 6 T It T el 1 WS 71 & oy o1

E?

A: (6x+5y—12)2+4(3x+7y—8)2=1, z=6—2x — 3y
B: (5x + 6y —12)2+4(3x +5y—9)2=1, z=6—2x — 3y
C: (6x +5y—14)2+9(3x + 5y —7)2=1, z=6—2x — 3y
D: (5x + 6y —14)2+9(3x + 7y —8)2=1, z=6—2x — 3y
Topic: Mathematics-Section A
Item No: 17

Question ID: 100617

Question Type: | MCQ

- 5x2
Quesion | 7y f(x) = 22— —, x>0, % Frea "7 14 %, @ o 1 HE SRR D
X




B: 64
C: 128
D: 256
Topic: Mathematics-Section A
Item No: 18
Question
D: 100618
Question
Type: MCQ
M o, B Ty T STHS STitae: G@C 1AM f(x) = axd+Bad +yx, x e RAM g : RHR TH
R 2 foh A9l x e R & fAUg(f(x)) =x B 1372 ay, a,, ay, ..., 2, TH WK 431 | &, 57 7
Question:
1 n
g f g[EZf(ﬂf)} 1AM T §
i=1
A:
B: 3
C:
D: D7
Topic: Mathematics-Section A
Item No: 19
Question
D: 100619
Question
Type: MCQ
HIFH a,, ay, a,, ... F [TAOR HIC f5F8F AU a, =1, a,=2F T api0= +a,,
dn41
1 1 1 1
Question: a +a_ a2 +a_ az +a_ asp +a— ol
n=123, .. 5 a& = 3B ) - A 1=2%(61Cyy) §, W«
as ay as aszp
T
A — 30
B: —31




C: — 60
D: —61
Topic: Mathematics-Section A
Item No: 20
Question ID: | 100620
Question
Type: MCQ
X
Question: | &l &Y SAgheI e f(x)= j' et F(t)dt—(x2—x+1)e¥, x e R &1 F=1aq 7M1 &
0
2
A: —_—
Je
B: —2Je
C: _\/E
2
D: i
Je
Topic: Mathematics-Section B
Item No: 21
Question
D- 100621
_?ues.tion Numeric Answer
ype:
THl B: 9 373 9= (characters) & 9t Hehd-vIsgi (passwords ), o4 g+ o {A, B, C,
Question: D, E} § U &R A1 {1, 2, 3, 4,5} ¥ TH 3% ¢ a1 fod fai =t ggfa =t 1qafa €, o
| I STl SH A Hoha-vissl, e wH A H U 9 (1,2, 3,4, 5) H A UF 3 €, A
&M ax56 B, W o SR § |
Topic: Mathematics-Section B
Item No: 22
Question
D- 100622
Question

Type:

Numeric Answer




AT P(—2, —1, 1) @ Q(%,%,%} T FEEgs PRQS & ¥ ¥ | Afg fawol RS &
Question: a . -
feh-3T M o, —1, B € V&l o a1 g S =79 Frder o & qoifer € a1 o2+p2 o= &
.
Topic: Mathematics-Section B
Iltem No: 23
Question
D- 100623
1Q_ue§tion Numeric Answer
ype:
AT Tk el £: [0, 1] — R, AU (0, 1) H &1 9R ka9 & a1 f0) =3, f(1) =5 & | Afg @
Question: | y =2v+3, f UTH i (0, 1) § Faa Q1 f= fogsli W wredt €, @ fogefi x e (0, 1) * =g
e, AW /) =0%, & |
Topic: Mathematics-Section B
Item No: 24
Question
D- 100624
Que§tion Numeric Answer
Type:
v3 15x° ” :
Question: | 1< I = dy=av2+B3 & Tl o, BYUIH B, Ma+BaERE
0 \/1 +22 +4f(1+22)
Topic: Mathematics-Section B
Item No: 25
Question
D- 100625
_?;pees:tion Numeric Answer
_1 e | B I . 5 » |2 2 2
g A=, (@M B=l | ¢ BeRTITA (A+B) =A 4{2 2} %1 T H el
Question: )
o WM o § T (A+B)2 = B2 &l HI® FH Al o H AT a, 81 A |o; —ay| TR @
S|
Topic: Mathematics-Section B

Iltem No:

26




Question

D 100626
_I(?;pees:tion Numeric Answer
p, qeR, q> 0, fou arsfaes 99 e fix) = (x—p)2—q, x e R & fa=mR ﬁﬁﬂlfﬂ:ﬂal, By
Question: | a, AT a, Tk BT HE 3{a¥ 1 GG 9441 § € a0 s AeA p 1A i=1,2,3,4 % fau
| f(a;)|=500%, @ flx) = 0% Tl =1 Feder i § .
Topic: Mathematics-Section B
Item No: 27
Question ID: | 100627
_?;pees:tion Numeric Answer
xZ yz
FAfqIEe™ H : x2—y? = 1 991 S99 E a—2+b—2=1,a>b>0éﬂ%ﬂ,w
(1) E i Scohegdl, H w1 Scohegdl o1 SIohHuig &, Qe
Question:
5 3
(2) @ y=\/£x+K, E 1 H i Teh IS T8 3@ ¢ |
T 4(a2+b2) TR § |
Topic: Mathematics-Section B
Item No: 28
Question
D- 100628
_?;pees:tion Numeric Answer
. 1 .z
Question: | TN E¥1=3 X X3y o T TR 93 § €, foren 9rd st 5 I TR (x;— i)
TR T SRS I S | AfE T TR A ¥ T ol Hew yufe <x B |
Topic: Mathematics-Section B
Item No: 29
Question ID: | 100629
Question

Type:

Numeric Answer




Question:

100

(x+2cosx)3 +2(x+2cosx)? +3sin(x+2cosx) | X

Iim 3
; EREE
x>0 (x+2)° +2(x+2)2 +3sin(x+2) ®
Topic: Mathematics-Section B
Item No: 30

Question ID: | 100630

1Q_ue§tion Numeric Answer
ype:
. 32 —9x +17  5x2—7x+19
Question: RSN —
x % A, R T g a1 © T AR E
Topic: Physics-Section A
Iltem No: 31
Question ID: 100631
Question Type: | MCQ
Question: o
(AFS p : Hokd ST Rl Fraeheiierdl, To B : Jraehid &)
A: [M T2 ]
B: IMLT2
c: [ML-1T-2
D: M TR =8 A_ll
Topic: Physics-Section A
Iltem No: 32
Question
D- 100632
Question
Type: MCQ




T NCC 1 %€ 9 km/h &l THIqH = § frdt s F I F R A TR W@ 8, o9 W
e 19.6 m il FE WA ¥ T eror foie ox, 5ie¥ wk o iR 1 9% $e2 (BH) 39

Question: | 1 =1 e s Forgert < RT3 9 W e @ Fe 3 SR |
(fen & g=9.8 m/s2)
A 5m
B: T0:m
C: 19.8 m
D: 245 m
Topic: Physics-Section A
Item No: 33
Question | 490633
_?;pees:tion MCQ
QS-SR YT H, 25 ms~1 i =T § =9 @l Tk 5 kg FATH 1 o] AR § o &, T
Question: | SHEL: (i) 3 HehUS TH (i) 5 HhUE H fagm staeen # o St g
T 1 4 adt fasey =4 -
A: gl gftferfaei § avg W SrEid sigd sd e S1re 1 |°E 9HH SR
B: Sl Rfeafaed § emem @ aum w fReg e 9 STa-STa 2T |
C: Sl aRfeafasl § ofred o1 HHM @ e AT STeRT-STeRT SR |
D: gt uftfearfaal # siad ot ue smam A1 fir=-fir 8
Topic: Physics-Section A
Item No: 34
Question | 400634
_?;pees:tion MCQ
Question: T H U&F TR & Z39H 10 g T 1 39 TR 9§ 91 THTAE &2 % WY 4.5 cm/s & o7 Frapeml
| #1 Afe s 5 s ® yoia: fage S €, | e W FeiRa ofd 9t (2reA o) &
A: 3




B: g
C: 12
D: 18
Topic: Physics-Section A
Item No: 35
Question
D- 100635
Question
Type: MCQ
Question: | 16 38T &t e 29 fass S Sraifer sweRt 2o WA T 1 @ 9ol o 9@ T & R
T <hl HH T HT :
A: 2% ©< SIE
B: 4% ©< S
C: 2% dg S
D: 4% g ST
Topic: Physics-Section A
Item No: 36
Question
D 100636
Question
Type: MCQ
Quest 1 cm?2 STYE 12 &T%el el O hl TTFlE hl Eigeht QFAT i o ol STevdsh o B0 ¢
uestion:
(feon &, a1 =1 97 o =2x 101! N/m?2)
A 1x107 N
B: 1.5x107 N
C: 2x107 N
D: 25x107 N
Topic: Physics-Section A
Item No: 37
Question 100637

ID:




Question

Type: MCQ
Question: ek Ml S 1 S8 50% &1 A fe (IRmm) o1 qrawe 40°C w2 fean S, < g@eh! g
| 30% 9@ S 1 B o1 A9HE B
A 166.7 K
B: 2a5.1. K
C: 266.7 K
D: 3077 K
Topic: Physics-Section A
Iltem No: 38
Questi
IDLfeS '°" 1100638
Questi
T;.Ipees on MCQ
HmOT1: e el 9 % T H, Stuped ot ofa HAT arHe W iR e 21

Question: | FETIL: ﬁaﬁﬂnﬁmaﬂaﬁﬁm(aﬁm%ﬁn@)ﬂav%laﬁwwaﬁt

T ST € ue sHeRdiSt 3] sferdie wRempet | fasfed € 9 €, dl rms W@ 20 @

S |

IHIEK HAI & e |, A4 fou 7 faskedi § ¥ W@ 3w T4 ¢

A A 1 U8 heM 11 51 T §
B: A 1 U5 e 11 Sl 379 § |
c: HAT 1 T B, Ty wAA I 3159 2
D: HAT 1 3TH &, foheg oM 11 T |
Topic: Physics-Section A
Iltem No: 39
Question ID: 100639

Question Type: | MCQ




== fqu U ai g |,

Question: y =05 sinz% (400 t — x) m
T Rl AT BT

A: 200 m/s
B: 20042 m/s
C: 400 m/s
D: 4002 m/s
Topic: Physics-Section A
Iltem No: 40
Question | 100640
Quest
T;Jpees: on MCQ

21 GenfiEi 1 Goft sFe H Sirer T, S ue ) enfiar 40 pF ®1 39E 9 U g &t ufeE
Question: | % & & M FI K WEEAF ael WoEd vad 8 w0 s ¢ o feem it gea i

24 uF B 9T &1 K 1 9F 20
A: 1.5
B: 25
C: 1.2
D: 3
Topic: Physics-Section A
Iltem No: 41
Question | 490641
Questi
TyupeeS: on MCQ
Question: R, Ffciel aTed Weh AR <l Tt SHeh! TFas H, SHeR! dTiereh TwiE o & 1 o Sk gig i

| SR ®1 T i o STt gfekie & e ©

A B




B:

C:

D:

Topic: Physics-Section A
Item No: 42

Question ID: 100642

Question Type: | MCQ

T FeamrHiet &t ¥R AR a9gs ST gl © :
(A) =R ol HE&AT Sl H2HL
(B) TEIhI™ & hl FgH

Question: (C) a; EF;‘[ - 5@;
(D) 5T o 2RETa Eerieh &l "2t
19 feu v faswredi § 4 waities Iugad IR I

A Fae (B) T (O)

B Fae (C) T (D)

C: &I (A) TE (Q)

O: Fae (B) T (D)

Topic: Physics-Section A

Item No: 43

Question | 100643

Question MCQ

Type:




o= # 29 3R, 0.45 kg m-1 % W @ dfell T Uifcash 9, Tk fodi 31Hd 9d T
Sfas w1 A T g8 ©, I8 AFd a Afast A 45° T B0 S R | S 39 W 0.15 T HE H
T & SR SR fewn H weid € 9 v a fer W % fau s yeifgd um
ST JAqH HE &R

Question: { fean % g=10 m/sz]
B4 gl Ea
45° 1
A: 30 A
B: 15 A
C: 10 A
D: 3 A
Topic: Physics-Section A
Item No: 44
Questi
Do 100644
Questi
T;pees: ion MCQ
T Y5 T URed H 4R 1 WHE 5 sin(49 mt—30°) 81 AfE Y 30 mH €, @ TF F
_ ¥l o areedn o1 g 2
Question:
22
(et = 7
A 1.47 sin(49 wt—30°)
B: 147 sin(49 mt + 60°)
c: 23.1 sin(49 wt—30°)
D: 23.1 sin(49 wt+60°)
Topic: Physics-Section A
Item No: 45
Question ID: | 100645
Question MCQ

Type:




ot T SRIT STTER, J1e - 1 9 7O o 918, Jeqq - 2 | Wil i =1 o, B
(R & c=3x108 ms1)

Question: Air |IMedium 1 |Medium 2
Hr = we=1
=4 €=9

A: 1.0x 108 ms-1

B: 0.5% 108 ms-1

C: 1.5x 108 ms-1

D: 3.0x 108 ms-1

Topic: Physics-Section A

Iltem No: 46

Question

ID: 100646

Question

Type: MCQ

Question: H T il gredt & forg, sifgeare oo S5 % S gl 30 cm ®1 S

C | greEl & i eEdE 2 €, | sifigvee @ tishe g 2

A: 20 cm

B: 30 cm

C: 10 cm

D: 15 cm

Topic: Physics-Section A

Item No: 47

Question

D- 100647

Question MCQ

Type:




TR \ = 1'ﬂ7m,wuﬁnw3ﬁaaﬁaﬁé—wﬁﬁa®ﬁ%ﬁmaﬂﬁﬁﬁmwmé‘l

X
TG THRTH 1 €

Question: SR m=3cagH & ZHHH

P=3ScAdeH 1 T

K = getag™ & Tifast il

V =3ieeM ! @Afd 3 o foae wge fasa (volt )
A vmK
B: \/]3
C: ,JK
D: ﬁ
Topic: Physics-Section A
Iltem No: 48
Questi
Dot 100648
Questi
T;pe; ion | \ica

7
Question: | TPl Tredmafsa qeied 1 o1 31/ et 60 T T T AAfod ZoAHM o - R 1 farefd €
H o FHY 80

A 120 fei d
B: 130 fe=i o
C: 180 feai #
D: 20 fei ®
Topic: Physics-Section A
Iltem No: 49
Question ID: 100649

Question Type: | MCQ

Question:

Hier Hat & sAfvea 1= 9 | form faa § weffa €2




A:
\%
I.

B: ks J ’V

I
C:

Vv
I L

D: J 3

( v
Topic: Physics-Section A
Item No: 50
Question ID: | 100650
Question
Type: MCQ
Question: | AT Higerd H, fashfd =l F109 &tH o foiu, Aige Yo (u) B =T
A: L= 3
B: w=1
C: M= 2
D: = 0

Topic:

Physics-Section B




Item No: 51

Question ID: | 100651

%Jpees:tion Numeric Answer

) A A A A A A

Question: | 77fg 27 +4j — 2k HIUHA, | +2j + ak WIA LTI T o H TH BN |

Topic: Physics-Section B

Item No: 52

Question

D: 100652

Question .

Type: Numeric Answer
2 "¢ 30 T2 st STGH o, TA--731 1 Ueh eA™iRa Hid, 379 ST Fard & e 64 T

Question: | faferzor Scafsld swear ¥ S/ =am 999 & @1, 39 Bid & @y GRfad & e ya g g,
EL |

Topic: Physics-Section B

Item No: 53

Question

D 100653

_?;pees:tion Numeric Answer
771 % fgeh—Terilt WA H, 560 nm aTe1 A8 Y19l BRI & SAfdehul YT H, Tl oFIaR & st &

Question: | & &l T 7.2 mm B 378 s T TH™ Ea TIo foha S 7, Fored 3cq=1 =t grea |
T ATER g iR o &= @ gl 8.1 mm T T YW B i dieed nm % |

Topic: Physics-Section B

Item No: 54

Question

D: 100654

Ques.tion Numeric Answer

Type:
o8 a9 W, Tk goiielg LCR IRy #, €W 3 371aW o1 0H, 3799 31feshad OH %

Question: . A y
TAT 81 S €, 98 212 rad s~ ! UH 232 rad 5! 1 9ROy ¥ yfady w1 AE 5 0 ¥ ufmy §
T 1 HH mH Tl

Topic: Physics-Section B

Iltem No:

55




Question
ID:

100655

_I(?;pees:tion Numeric Answer
foa # 2ol o1gER, 20 O 9y U6 300 cm @R AT faseHH o 9R S Tk giady sied
(R.B.) W& 4 V emf (f92[d a& 97a1) a6l Tk AHS el & T Set s 81 9ikgy §, gfad
S & gfadte ‘R’ % g, 20 mv amer da % foe 3= fad fag 60 cm W fiyear €1 ‘R &1 9H
Q gl
Question: 4V R
— —RBH—
A B
———©
20mV
Topic: Physics-Section B
Item No: 56
Question | 490656
_?;pees:tion Numeric Answer
1.2x10-30 Cm T 24x10-30 Cm, fgyga 210l o &1 fomga fgyail 1 5x 104 NC-1 @&
Question: | 15X 104 NC-1 &ma A T STA-3T THEAE faga & | A W@ s ¢ | foga fgyai
3R TvE fohd T stfirRan sremgull &1 SFuE Lam xwmum %
X
Topic: Physics-Section B
Iltem No: 57
Question | 490657
_?;pees:tion Numeric Answer
$ohl (9T qEfdd faret) =i smgfa Hz &1, g 36 km/h o 97 ¥ Uk YISl &l
Question: | T FeTdl 85 ¢ | 320 Hz AGFd aTcd SIsid §U ¢ o 8 ol YISl § WEdA o I9Td gl ohl ¢
% =elh g1 G Sl 81 Fa1 H eaf 1 91 330 m/s B
Topic: Physics-Section B

Iltem No:

58




Question

D 100658
_I(?;pees:tion Numeric Answer
Y H 2 mm A 9l Bl hl gerge], 1750 kg m-3 B & 89 H 0.35 cms-! H W H
Question: | ad & S 33 W1 &1 g4 I A1 T0TH TR (poise) § feread quifen |
(& = T T 1)
Topic: Physics-Section B
Item No: 59
Question
D: 100659
Que§tion Numeric Answer
Type:
‘m’ GHM &1 Tk ekl (Fo § gy $1En), it f& E nfost Sl § =t @1 €, 7ot 7fd 3 e
T Tga T T8 T &1 25 cm &1 g 9% <o a1 €1 WP g8 e o e feerid @ W
nE Nm-1! 21, &l n= 2l
Question:
—E
m
IEETIEC]
Topic: Physics-Section B
Item No: 60
Question
D: 100660
Question

Type:

Numeric Answer




IR UHTAM fe%h, {578 I 1 5590H ‘M’ T8 9 ‘a’ §, &1 Fo9 H 593 o79R et e
W%luﬁ:oo'éwﬁaz,ﬁ?mwa@?a@ﬂfihdaz Bl A xFHA B
TO
Question:
4 0
Topic: Chemistry-Section A
Iltem No: 61
Question ID: | 100661
Question MCQ
Type:
Question: | Ty=feIfigd H 9 TTeid A UgHIHY :
A FfFTH % =N R TF JahR 1Y FHH e g § 361 a1 i HaT FEd © |
B: FeTeh Teh GILHIY] 1 Ush AT a7l Her () B
c: FESIST TegH F a1 it hanl & i 1 grd+ oo § |
D: FieH & n 71 | § TG Hefeh ] ATl F3d © |
Topic: Chemistry-Section A
Iltem No: 62

Question ID: 100662

Question Type: | MCQ

Question: frefafad grei § 9 SF-a1 98 7d 82

A: AH = AU—-PAV




B: AU = q+W
c: ﬁ.S A 20
D: AG=AH-TAS
Topic: Chemistry-Section A
Iltem No: 63
Question | 190663
_CI_);pees:tion MCQ
et - 11 e gt - 114 wifsw )
Tl -1 el - 1
(A)  Cd(s) + 2Ni(OH);(s) = CdO(s) + 2Ni(OH),(s) + H,O(l) (I)  Wefies szdt
(B) Zn(Hg) + HgO(s)— ZnO(s) + Hg(l) (I fgd=®w d= =1
Question: foafsta e
(C)  2PBbSO4(s) + 2H,O(I) - Pb(s) + PbOs(s) + 2H,S04(aq) (IM) 387 &
(D) 2H,(g) + Oy(g) = 2H,0() 1v) 5o s =1 9=
HAT
== feu faeredi § ¥ 92t 3w gfHu |
A (A) - (), (B) - (1), (©) - (III), (D) - (IV)
B: (A) - (IV), (B) - (1), (C) - (1I), (D) - (III)
C: (A) - (D), (B) - (1), (©) - IV), (D) - (1)
D: (A) - (1), (B) - (1), (©) - (I1I), (D) - (IV)
Topic: Chemistry-Section A
Iltem No: 64
Question ID: | 100664
Question MCQ

Type:




el - [ 1 Gt - I frer shifsie)

Tt - 1 T - 11
srfuferan SUH

(A) 4NHj3(g) + 50,(g) = 4NO(g) + 6H,O(g) (I)  NO(g)

Question: | (B)  N(g) + 3H>(g) — 2NHjs(g) (I)  HySO4())
©) C12H2011(aq) + HyO(I) %%Eéigeﬁ + C;EEDOSZ () Pis)
(D) 250;(g) + O2(g) = 2503(g) * (V) Fe(s)
= feu fosredl § 9 @@t 3w g

A: (A) - (1), (B) - (1I), (C) - (I), (D) - (IV)

B: (A) - (1), (B) - (1), (C) - (I), (D) - (IV)

C: (A) - (1), (B) - (IV), (C) - (1), (D) - (I)

D: (A) - (1), (B) - (1), (C) - (IV), (D) - (I)

Topic: Chemistry-Section A

Iltem No: 65

Question ID: | 100665

_?;pees:tion MCQ
frefafad gl § § fFoh ses acl #1 gordel™ afer THed g A1 e 99 § 2
(A) RbdACs

. (B) Nad=:K

Question:
(C)  Ar a9 Kr
(D) 19 At
== fou fosmedl # 4 @&t 3 giu .

A (A) 91 (B) hael

B: (B) 941 (C) had

c: (A) 91 (C) e




D: (C) @1 (D) e
Topic: Chemistry-Section A
Item No: 66

Question ID: 100666

Question Type: | MCQ

Question: FA-9i Afufran fFerer ghe ¥ 3/%h & g F fau Suge § 2
A: 2CII2S + 302 %2‘:'[120' + 2802

B: Fe;0, + CO — 3FeO + CO,

c: Al,O5; + 2NaOH + 3H,O — 2Na[Al(OH),]

D: Al,O3 + 6Mg — 6MgO + 4Al

Topic: Chemistry-Section A

Item No: 67

Question ID: 100667

Question Type: | MCQ

Queston: | etk fafel GRT SR STet <kl Tg hed B il oIq Tlee o d &, I8 E -
A Ca(OH), @1 Mg(OH),

B: CaCO, 1 Mg(OH),

c: Ca(OH), @& MgCO,

D: CaCO, a1 MgCO,

Topic: Chemistry-Section A

Item No: 68

Question ID: 100668

_?;pe::tion MCQ

Question: | fmferfigd weHi § | HH-91 & & 82

A Sl H LiF ot <A faerad sgent siedie T¥edt 1 19 9 8H & R & |




B: KO, STIIrIH 4 T |

c: 7a s | Gifen & faaem = goid =1 g €

D: o o w1 eThen Wifeay e1g 1 S 3= A 2

Topic: Chemistry-Section A

Item No: 69

Question ID: | 100669

_?;pees:tion McQ
Yok AR e - 11 399 Frifia | gt - 11 % iy e S

Tt - 1 et - 11

(A)  (NH4),Cr,0; —2 (D) H,

Question: (B) KMnO4 + HCI — (I) N,
(C) Al+ NaOH + H,O — () O,
(D)  NaNOz —= (V) Cl,
= feu faskedi 9 9 Tl IW g

A: (A) - (1), (B) - (1), (C) - (), (D) - (IV)

B: (A) - (), (B) - (1), (C) - (IV), (D) - (II)

C: (A) - (1), (B) - (IV), (C) - (), (D) - (III)

D: (A) - (), (B) - (IV), () - (), (D) - (I)

Topic: Chemistry-Section A

Item No: 70

Question ID: 100670

Question Type: | MCQ

Question:

frefafead § 9 frast wfvs ol § 9 H, 750 &0 1 99fd =79 § 2

A:

i




B: Mn
C: N1
D: /n
Topic: Chemistry-Section A
ltem No: 71
Question ID: | 100671
Questi
T;Jpees: on MCQ
= € e feu € -
et ®HAT1:  Wefud STt § Sl gt e g9 BOD gl %1 HH §gd Y el & |
uestion:
HIT I :  FAHFIA & ufomreasy gefl gt stierdisH &1 o= =2dl §1
== fou fasredl § 9, I woAl & fau waifys 3= 3w g
A A 1 T4 11 ST Tal B |
B: HAF [ 71 1L A1 TTead 2
c: oA [ & § Tg e 11 7Terd ¢
D: A [ 7Terd § W R 11 1 2
Topic: Chemistry-Section A
Iltem No: 72
Question ID: 100672
Question Type: | MCQ




Gl - 1 1 fHel@ ge=ll - 1§ SIS |

-1 et -1
(A) Q () Tl Al
(B) ><|>< (1) e i
Question:
() j>< () sTemae fawe = Aifmes
(D) @ (IV) fg=shta it
= feu fasredl 9 § @&t s g
A (A) - (1D, (B) - (), (©) - (IV), (D) - (III)
B (A) - V), (B) - D), () - (), (D) - (1)
c (A) - (II), (B) - (1), () - (1), (D) - (1)
D: (A) - (IV), (B) - (I1I), (C) - (IT), (D) - (@)
Topic: Chemistry-Section A
Item No: 73
Question ID: 100673
Question Type: | MCQ




frefafed stfufsraneti & foi 92t fashey g

CH3 )
Question: BH Hg(OAc),, H,O
B « ( 3)2 S H3C—C—CH=CH2 z 2 > A
CH3
A ‘A’ GUT“B’ SFI HIehIIehih Heheld o SIS ¢ |
B: ‘A’ TR IEUTE © qUT ‘B’ Ui HIehHThi% IS T |
c: ‘A’ TT ‘B 21 9 AR Y % 3K § |
D: ‘B’ HTehi-Ieh 1% SIS & A1 ‘A’ Ufd HIh-Th® SIS & |
Topic: Chemistry-Section A
Item No: 74
Question ID: 100674

Question Type:

MCQ

aueston: | frmfafaa 8 § frm dife @1 fafea dem pK, =1 =Faw a9 <t 2|
H
A: |
H,C — COOH
H O
B: |l
H,C—C—CH,
C:

@% -




H
OH
D:
@)
Topic: Chemistry-Section A
Item No: 75
Question ID: 100675
Question Type: | MCQ
== feu U stfufsran sve H g1 3R A 91 B Sl Y89
(III
1) CH,CHCH,, AICl
E 2; o, AT N0, /180,
Question: ) »> P » A
3)H , H,0 .
Br, in CS,
OH OH
A: @ and

Br




-

OH
B:
e Br
0 OH
BI’ Br
c and
O Br
OH
H
& Br Br
D:
and
Br
Topic: Chemistry-Section A
Iltem No: 76
Question ID: | 100676
Question MCQ

Type:




= feu wuraeer & fau 98 w99 g |
C,H-ONa

Question:

CH3—CH2—CH2—(IZH—CH3WJ-E A ) + (\_ﬂgq)

®N(CH,), :

A A - CH,CH,CH=CH~-CH,, B - CH,CH,CH,CH = CH,, 5% 91§
B: A - CH,CH,CH=CH -CH,, B - CH,CH,CH,CH = CH,, 8%aH ¥q1§
c: A - CH,CH,CH,CH=CH,, B - CH;CH,CH = CHCH,, ®%dM 3§
D: A - CH,CH,CH,CH=CH,, B - CH,CH,CH = CHCH,, ¥~I% 31g
Topic: Chemistry-Section A
Item No: 77
Question ID: | 100677
Question Type: | MCQ

Question: 2Rl agets &l fome e A s 8, 9. §

A -1, 2-STE3Te AUl dii-1, 3 SIgehTelioRfeTeh 37w
B: YY1, -T2 a9l Sii-1, 4 SEhEIgaes 3
c: -1, 2-STE3ATe AUl Jii-1,4 STSHTeli [T 3Tee
D: -1, 2-STE3TE Ul Ai1-1, 2 STEehTali[efeTeh 37w
Topic: Chemistry-Section A

Iltem No: 78

Question ID: 100678

Question Type: | MCQ




T feu wehra 26 TEiea (X) &t UEiHE S ©
HO - (|3 -H
Ho-(lz—H O
Question: H—-C—-0OH
|
HO — (|2 -H
i
CH,OH
(X)
HO =i
OH
A OH
HO |
OH
HO =
OH
B: OH
HO
OH
HO =
c OH
HO OH
OH




I—IO—l

HO OH
OH

D:

OH
Topic: Chemistry-Section A
Item No: 79
Question ID: 100679

Question Type: | MCQ

T=TEH il sfueli & gay § swem i fou @
(A) 3 oaeff qem sremeff starive simd €
(B) A wfsha ¥de qe1 UARSIieh Hdg U HaleH o ¥hd ¢ |

W) el sid e T B sreg S0 A o ¥
(D) sTEqefi o7 Wisha ¥ag &l sTa%s e Al simy g |
= fou fasredi H ¥ waifyes 3fed 3w 1 g

A (A) 91 (D) shHad

B: (A) T1 (C) e

c: (A) 91 (B) shad

D: (A), (B) 941 (C) %had

Topic: Chemistry-Section A

Item No: 80

Question ID: | 100680

Question MCQ

Type:




HHL & q9 T AESES AEH Hi H,0, § Afufsran =1 wfdel 1 s1ezeq o & fau
(A) He1 aren AR T = faeam & 3uan s

(B) KIfaema &l |i=dl s 214a Hifed griFethe faeaq 1 |rsdl §al %8 fEu|
Question: | (C) el T el B o L oig T9A i Fehre whifer |
(D) el 1 30 B | I U8l 9Hg <l e i
(E) KI foeraa =t Fr=d1 =i 37u&1 Hifeas gethe faoaa I grsar ¥a1 stfes Fau)
= fou fasedi # ¥ W&l 3w g :
A (A), (B) @1 (C) heled
B: (A), (D) 91 (E) shad
c: (D) A1 (E) shadl
D: (A), (B) A1 (E) shad
Topic: Chemistry-Section B
Item No: 81
Question ID: | 100681

Question Type: | Numeric Answer

X + Y + 3Z SXYZ,

Question: | #fg X qT Y Week o Uk HIed Z o 0.05 Hiel § AT XYZ, <4 €
XYZ, %t afe g H § | (Freeaw quries #)
(T & : wwmifoerss |efd X, Y 99 Z =l w99 & 10, 20 92471 30 amu )
Topic: Chemistry-Section B
Iltem No: 82
Question | 490682
Question

Type:

Numeric Answer




Teh e M &1 31a: i o7 The Fiftes § freer g ¢ faet Fr o= 300 pm 8, 9@

Question: | &1 HFcd 6.0 g cm 381 q % 180 g H TLHIVSAI I HEA © x102 1 (FrepeaH
quiieh H)
Topic: Chemistry-Section B
Item No: 83
Question ID: | 100683
1Q_ue§tion Numeric Answer
ype:
MO fagia F orar frefafe § ¥ ergeg oivis #i 9 T © |
Question:
. - M2- At +
BZIL‘IEICZICZIO ,02 aﬂP{HEZ
Topic: Chemistry-Section B
Iltem No: 84
Question
D 100684
Que§ti0n Numeric Answer
Type:
150 g UHifesh 317t & ferish <l (x x 10~ 1) °C ®eH  fiu 36 10.2 g TehIfdsh 3771 (C HgCp)
foemn T xwmAme 1 (Fean quis #)
Question:
[ f& T K=3.9 k kg mol ]
[UEhiforeh 37ret ol HieR Hefd = 176 g mol !
Topic: Chemistry-Section B
Item No: 85
Question
D: 100685
Ques.tion Numeric Answer
Type:
TR 3T (C,H,COOH) & fau K, 2x10-3%1 0.2 M FeRRF o7 & faaad &1 pH®
Question: | _ Y10,
[fe=n 2 log 2 = 0.30]
Topic: Chemistry-Section B
Item No: 86
Question 100686

ID:




Question

Numeric Answer

Type:
g g 9y Fife F i
_ A—>B
Question: X
% foru sifafsran =) o1 31 0.3010 min 81 s1fufsrae it gRfYw |rear 991 2.0 min W
SAfAfohgeh sl gl =1 STIU sRaL BT F |
Topic: Chemistry-Section B
Item No: 87
Question ID: | 100687
Question ,
Type: Numeric Answer
Ovest freafafad § 9 37 fqu gasr foaent S i fifaet €, = 9en g
uestion:
CIF,, IF,, BrF;, BrF,, L,Cl, IF;, CIF, CIF,
Topic: Chemistry-Section B
Item No: 88
Question
D- 100688
_?;pees:tion Numeric Answer
FAT WoH B MnO32~ 1 FEEEA &1 HAis A A 91 B el €1 4 B H Mn i
Question: | STerHTeRTT STereel A 1 G H H & 1 B o1 helel Foq Jrarehid 3Tl () BM A © |
(Teheam qurier H)
Topic: Chemistry-Section B
Item No: 89
Question
D- 100689
Que§tion Numeric Answer
Type:
Question: AEHARI HHel [Cu(en),(SCN),] * Feit srdamshd sifereh Terit quemal st dutfad el G
| @it |
Topic: Chemistry-Section B
Item No: 90
Question 100690

ID:




Question
Type:

Numeric Answer

Question:

T 0.492 g Freifen AR f5Ed C, H o1 O §HEfed 8 % 9ol 87 W 0.7938 g CO, ae
0.4428 g H,O 39 B1d & | it H ATerefisi a1 % Hered 01 @ |




